nstallation tnstructions

PATENT PENDING

ki
, Hardware
Ob(tSWLV\,@ Poor track mount:  (3) 5/8” screws
, , 2 tracks: (5) 5/8” screws
LV\ISLD(B MLOUWNE handle: (3) 3/8” screws
striker plate:  (2) 5/8” screws
Fi@ ure C magnet : (2) 3/8” screws

Recommended attachment

Install and Sequence.

o secure tracks.

Track positioning

Transfer hole locations for
handle and magnet, and use
7/64” drill through first wall
of handle bar only.

Magnet
position

Top view of handle

Manufactured bg Stolleo ndustries Lid. Port Coquitlam, BC €04.941.6291 www.stolleo.com



